BIC

5x10°

Relative Probability

107°107*1020.01 0.1

Window Half—Width (km/s)

2x108

108

2x10°

5

10

10 100

1

1000 10*

100

rm057 2/(410053 —5146)=1.829

BIC 807273 31 ABIC O. OOO AlogP 0.0000

i x 740766.19 Ax 0.000 AlogP 0.0000 1
I 5146 ]

A

S A S S NS S S S RN ST S SRS S S S S S RS S S

5 10 15 20 25 30
30 iterations
rm057 2/(410053 —5146)=1.829
] e T L
F BIC 807273 31 ABIC O. OOO AlogP 0.0000 3
e % 740786.19 Ax 0.000 ‘AlogP "0.0000 3
= 5146 T
R R R L R R -
E., . v P S S S S RS S L R I
5 10 15 20 25 30
30 iterations
Fe2 5% 100+270 km/s
rm057 BLR 5750 NLR 900 km/s
L e L L
F h e - L — — = e e = = = = = —
| [ 1 Eaan

E | J 150 E
C A ]
L. 1 ) ) | ) ) ) ) | ) ) ) ) | ) ) ) ) | ) ) ) ) | ) ) ) ) L]
5 10 15 20 25 30

30 iterations

BIC

BLR

NLR

Fell

kdh1 12-0ct-2021 20:37



